TELECOMMUNICATION SYSTEMS INC /FA/ Form SC 13D/A June 02, 2015

UNITED STATES
SECURITIES AND EXCHANGE COMMISSION
Washington, D.C. 20549

SCHEDULE 13D

Under the Securities Exchange Act of 1934

(Amendment No. 6) *

Telecommunication Systems, Inc. (Name of Issuer)

Common Stock par value \$0.001 per share (Title of Class Securities)

693315103 (CUSIP Number)

J. Carlo Cannell
Cannell Capital LLC
P.O. Box 3459, 150 East Hansen Avenue, Jackson, WY 83001
(307) 733-2284
(Name, Address and Telephone Number of Person Authorized to Receive Notices and Communications)

June 1, 2015 (Date of Event Which Requires Filing of this Statement)

If the filing person has previously filed a statement on Schedule 13G to report the acquisition that is the subject of this Schedule 13D, and is filing this schedule because of ss.ss.240.13d-1(e), 240.13d-1(f) or 240.13d-1(g), check the following box / /.

Note: Schedules filed in paper format shall include a signed original and five copies of the schedule, including all exhibits. See ss.240.13d-7 for other parties to whom copies are to be sent.

*The remainder of this cover page shall be filled out for a reporting person's initial filing on this form with respect to the subject class of securities, and for any subsequent amendment containing information which would alter the disclosure provided in a prior cover page.

The information required in the remainder of this cover page shall not be deemed to be "filed" for the purpose of Section 18 of the Securities Exchange Act of 1934 ("Act") or otherwise subject to the liabilities of that section of the Act but shall be subject to all other provisions of the Act (however, see the Notes).

Potential persons who are to respond to the collection of information contained in this form are not required to respond unless the form displays a current valid OMB control number.

CUSIP No. 693315103

- Name of Reporting Persons.
 I.R.S. Identification Nos. of above persons (entities only).
 - J. Carlo Cannell
- 2. Check the Appropriate Box if a Member of a Group (See Instructions)
 - (a)
 - (b)
- 3. SEC Use Only
- 4. Source of Funds (See Instructions) WC/00
- 5. Check if Disclosure of Legal Proceeding Is Required Pursuant to Items 2(d) or 2(e)
- 6. Citizenship or Place of Organization USA
- 7. Sole Voting Power 3,186,005*
- 8. Shared Voting Power 0
- 9. Sole Dispositive Power 3,186,005*
- 10. Shared Dispositive Power 0
- 11. Aggregate Amount Beneficially Owned by Each Reporting Person 3,186,005*
- 12. Check if the Aggregate Amount in Row (11) Excludes Certain Shares (See Instructions)
- 13. Percent of Class Represented by Amount in Row (11) 5.7%*
- 14. Type of Reporting Person (See Instructions)

IN

* Based on information set forth on the Form 10-Q of Telecommunication Systems, Inc. (the "Company") as filed with the Securities and Exchange Commission on May 1, 2015, there were 55,988,720 shares A of Common Stock par value \$0.001 per share (the "Shares"), of the Company issued and outstanding as of April 30, 2015.

As of June 01, 2015 (the "Reporting Date"), the Cuttyhunk II Fund ("Cuttyhunk"), the Tristan Partners, L.P. ("Tristan"), the Tristan Offshore Fund Ltd. ("Tristan Offshore"), Tonga Partners, L.P. ("Tonga"), and sundry separately managed accounts, over which J. Carlo Cannell has investment discretion (("Cannell SMAs") and collectively with Cuttyhunk, Tonga, Tristan and Tristan Offshore, the "Investment Vehicles"), held in the aggregate 3,186,005 shares.

Cannell Capital LLC acts as the investment adviser to Tonga, Tristan, Tristan Offshore, the Cannell SMAs, and the investor sub-advisor for Cuttyhunk. Mr. J. Carlo Cannell is the sole managing member of Cannell Capital LLC. The Reporting Person possesses the sole power to vote and to direct the disposition of the Shares held by the Investment Vehicles.

Item 1. Security and Issuer

The title of the class of equity securities to which this Schedule 13D relates is the Common Stock par value \$0.001 per share (the "Shares"), of Telecommunication Systems, Inc. (the "Company"), a Washington corporation. The address of the principal executive offices of the Company is 275 West Street, Annapolis, MD 21401.

Item 2. Identity and Background

a) The name of the Reporting Person is J. Carlo Cannell (the "Reporting Person").

The Reporting Person is the sole managing member of Cannell Capital LLC, an investment sub-advisor for the Cuttyhunk II Fund and investment adviser to various separately managed accounts ("Cannell SMAs") and the following entities (each an "Investment Vehicle" and collectively with the Cannell SMAs and the Cuttyhunk II Fund, the "Investment Vehicles"):

Tonga Partners, L.P.
Tristan Partners, L.P.
Tristan Offshore Fund, Ltd.

Set forth in the attached Annex A and incorporated herein by reference is a listing of the directors, general partners, managing members and controlling persons of the Reporting Person and the Investment Vehicles (collectively, the "Covered Persons"), and sets forth the principal occupation, citizenship and principal place of business of each Covered Person.

b) The principal business address of the Reporting Person is:

P.O. Box 3459 150 East Hansen Avenue Jackson, WY 83001.

- c) The principal business of the Reporting Person is the performance of investment management and advisory services. The principal business of the Investment Vehicles is investment in securities.
- d) Neither the Reporting Person, nor to the best of its knowledge, any of the Covered Persons, has, in the last five years, been convicted in a criminal proceeding (excluding traffic violations or similar misdemeanors).
- e) Neither the Reporting Person, nor to the best of its knowledge, any Covered Person, has, during the last five years, been a party to a civil proceeding of a judicial or administrative body of competent jurisdiction and as a result of such proceeding was or is subject to a judgment, decree or final order enjoining future violations of, or prohibiting or mandating activities subject to, federal or state securities laws or finding any violations with respect to such laws.
- f) The place of organization of the Reporting Person is as follows:

The citizenship of each Covered Person is set forth on the attached Annex A and incorporated herein by reference.

- Mr. J. Carlo Cannell is the Managing Member of Cannell Capital LLC, a Wyoming limited liability company.
- Item 3. Source and Amount of Funds or Other Consideration

Item 3 is hereby amended by deleting Item 3 of Amendment No. 5 in its entirety and replacing it with the following:

The securities to which this statement relates were acquired by the Reporting Person using the working capital of each Investment Vehicle as follows:

The Cuttyhunk II Fund: \$846,225
Tonga Partners, L.P.: \$1,908,707
Tristan Partners, L.P.: \$1,715,238
Tristan Offshore Fund, Ltd.: \$804,808
Cannell Separately Managed Accounts: \$1,510,107

The Investment Vehicles have invested an aggregate amount of approximately \$6,785,085 in the Shares.

Item 4. Purpose of Transaction

Mr. Cannell, on behalf of the Funds, identified the Company as an entity satisfying each Fund's investment criteria. The Funds acquired and continue to hold the Shares as a long-term investment.

Mr. Cannell amends this filing to release the second portion of a sixty-page presentation which illustrates the destruction of shareholder wealth under the current members of the board of directors of the Company.

This presentation can be seen online at: http://www.cannellcapital.com/uploads/TSYS_Part_Two.pdf

Mr. Cannell reserves the right to discuss various views and opinions with respect to the Company and its business plans with the Company or the members of its senior management. The discussion of such views and opinions may extend from ordinary day-to-day business operations to matters such as nominees for representation on the Company's board of directors, senior management decisions and extraordinary business transactions. Mr. Cannell reserves the right to take such action as he may deem necessary from time to time to seek to maximize the value of the Shares. Such actions may include, but may not necessarily be limited to, pursuit of strategic initiatives to enhance shareholder value.

In addition to the actions set forth above, Mr. Cannell may engage in any of the actions specified in Items 4(a) through 4(j) to the Schedule 13D general instructions.

Except as set forth above, Mr. Cannell has no present plans or proposals that relate to or would result in any of the transactions described in Item 4 of Schedule 13D.

Item 5. Interest in Securities of the Issuer

Item 5 is hereby amended by deleting Item 5 of Amendment No. 5 in its entirety and replacing it with the following:

Based on information set forth in the Company's Form 10-Q as filed with the Securities and Exchange Commission on May 1,2015, there were 55,988,720 Shares A issued and outstanding as of April 30, 2015.

As of June 01,2015 (the "Reporting Date"), the Investment Vehicles owned 3,186,005 Shares. The Adviser acts as the investment sub-adviser to Cuttyhunk, an investment advisor to Tristan Offshore, and is the general partner of and investment adviser to Tonga and Tristan

(a) As of the Reporting Date, for the purposes of Reg. Section 240.13d-3, Mr. Cannell may be deemed to beneficially own 3,186,005 Shares, or approximately

- 5.7% of the Shares deemed issued and outstanding as of the Reporting.
- (b) $\,\,$ Mr. Cannell possesses the sole power to vote and to direct the disposition of the securities held by the Funds.
- (c) The following table details the transactions during the sixty days on or prior to the Reporting Date in Shares, or securities convertible into, exercisable for or exchangeable for Shares, by Mr. Cannell or any other person or entity controlled by him or any person or entity for which he possesses voting or investment control over the securities thereof (each of which was effected in an ordinary brokerage transaction by Cannell Capital LLC on behalf of Cannell UCTIS, Cuttyhunk, and Tonga.

(Purchases)

(Sales)					
		Purchase	Price	Total I	Form of
Entity	Date	Quantity	per Share	Cost :	Transaction
The Cuttyhunk Master	4/8/2015	20170	3.803815568	76722.96	Sale
Cannell SMA	4/8/2015	28989	3.803815585	110268.83	
Cannell SMA	4/8/2015	1227	3.803814181	4667.28	Sale
Tonga Partners LP	4/8/2015	44994	3.803815842	171148.89	
The Cuttyhunk Master	4/9/2015	11957	3.723017479	44516.12	
Cannell SMA	4/9/2015	8673	3.723017473	32289.73	
Cannell SMA	4/9/2015	7924	3.72301741	29501.19	Sale
Cannell SMA	4/9/2015	1315	3.723017113	4895.77	Sale
Tonga Partners LP	4/9/2015	26672	3.723017011	99300.32	Sale
The Cuttyhunk Master	4/10/2015	4694	3.723532169	17478.26	Sale
Cannell SMA	4/10/2015	7033	3.723532103	26187.6	Sale
Tonga Partners LP	4/10/2015	1050	3.723531321	3909.71	Sale
Tonga Partners LP	4/10/2015	3685	3.723533533	13721.21	Sale
Tonga Partners LP	4/10/2015	4129	3.723530323	15374.46	Sale
Tonga Partners LP	4/10/2015	1609	3.723531121	5991.16	Sale
The Cuttyhunk Master	4/13/2015	820	3.69402439	3029.1	Sale
Cannell SMA	4/13/2015	1229	3.694035801	4539.97	Sale
Tonga Partners LP	4/13/2015	1831	3.694036046	6763.78	Sale
The Cuttyhunk Master	4/14/2015	1673	3.637931859	6086.26	Sale
Cannell SMA	4/14/2015	2507	3.637933785	9120.3	Sale
Tonga Partners LP	4/14/2015	1096	3.637928832	3987.17	Sale
Tonga Partners LP	4/14/2015	170	3.637920032	618.45	Sale
Tonga Partners LP	4/14/2015	2469	3.637934386	8982.06	Sale
The Cuttyhunk Master	4/15/2015	4908	3.602732274	17682.21	Sale
Cannell SMA	4/15/2015	7352	3.602732274	26487.3	Sale
Tonga Partners LP	4/15/2015	3916	3.60273238	14108.3	Sale
Tonga Partners LP	4/15/2015	7031	3.60273238	25330.82	Sale
The Cuttyhunk Master	4/16/2015	1607	3.546533914	5699.28	Sale
Cannell SMA	4/16/2015	2407	3.546535106	8536.51	Sale
Tonga Partners LP	4/16/2015	3586	3.546536531	12717.88	Sale
Tristan Offshore			3.258400006		
iristan Offshore	5/19/2015	62669	3.258400006	204200.6	7 Buy

None.

- (d) Not applicable.
- (e) Not applicable.

Item 6. Contracts, Arrangements, Understandings or Relationships with Respect to Securities of the Issuer

None.

Item 7. Material to Be Filed as Exhibits

http://www.cannellcapital.com/uploads/TSYS_Part_Two.pdf

After reasonable inquiry and to the best of my knowledge and belief, I certify that the information set forth in this statement is true, complete and correct.

Dated: June 01, 2015

J. Carlo Cannell

By: /s/ J. Carlo Cannell

Annex A

MANAGERS AND GENERAL PARTNERS OF THE REPORTING PERSON AND THE INVESTMENT VEHICLES

The following sets forth the name, principal occupation, citizenship or jurisdiction of organization and principal place of business of the directors, general partners, managing members or controlling persons (the "Covered Persons") of the Reporting Person and the Investment Vehicles indicated below:

J. Carlo Cannell

Title or Relationship with Reporting Person: Principal Occupation or Employment: Citizenship or Jurisdiction of Organization:

Principal Place of Business:

Cannell Capital LLC

Title or Relationship with Reporting Person: Principal Occupation or Employment: Citizenship or Jurisdiction of Organization: Principal Place of Business:

Tonga Partners, L.P.

Name:

Title or Relationship with Reporting Person:

Principal Occupation or Employment: Citizenship or Jurisdiction of Organization: Delaware, United States Principal Place of Business:

the Cuttyhunk II Fund

Title or Relationship with Reporting Person: Principal Occupation or Employment: Citizenship or Jurisdiction of Organization: Delaware, United States Principal Place of Business:

J. Carlo Cannell

Self

Investment Management Wyoming, United States (1)

J. Carlo Cannell Managing Member Investment Management Wyoming, United States (1)

Cannell Capital LLC Investment Adviser and General Partner Investment Management (1)

Cannell Capital LLC Investment Sub-adviser Investment Management (1)

Tristan Partners, L.P.

Title or Relationship with Reporting Person:

Cannell Capital LLC Investment Adviser and

General Partner

Principal Occupation or Employment:

Citizenship or Jurisdiction of Organization: Delaware, United States

Principal Place of Business:

Investment Management

(1)

Tristan Offshore Fund, Ltd.

Name:

Title or Relationship with Reporting Person: Investment Adviser

Principal Occupation or Employment:

Citizenship or Jurisdiction of Organization: Cayman Islands

Principal Place of Business:

Cannell Capital LLC Investment Management

(2)

- (1) The address of the principal place of business of J. Carlo Cannell, and Tristan Partners, L.P., is P.O. Box 3459, 150 East Hansen Avenue, Jackson, WY 83001, United States.
- (2) The address of the principal place of business of the Tristan Offshore Fund, Ltd. is One Capital Place, 3rd Floor, GT Grand Cayman, KY1-11003, Cayman Islands.

Annex B

Agreement Regarding the Joint Filing of Schedule 13D

The undersigned hereby agree as follows:

- 1) Each of them is individually eligible to use the Schedule 13D to which this Exhibit is attached, and such Schedule 13D is filed on behalf each of them; and
- 2) Each of them is responsible for the timely filing of such Schedule 13D and any amendments thereto, and for the completeness and accuracy of the information concerning such person contained therein; but none of them is responsible for the completeness or accuracy of the information concerning the other persons making the filing, unless such person knows or has reason to believe that such information is inaccurate.

06/01/2015 Date /s/ J. Carlo Cannell Signature J. Carlo Cannell Name/Title

CANNELL CAPITAL LLC

/s/ J. Carlo Cannell

Signature

J. Carlo Cannell, Managing Member

Name/Title